	Self-Test Exercises CH 2


[image: image1.png]1. What output is produced by the following lines?

string s = "Hello" + "Joer;
System.out.printin(s) ;




[image: image2.png]1. Hellodoe




[image: image3.png]2. Write Java statements that will cause the following to be written to the screen:

one two buckle your shoe.
Three four shut the door.




[image: image4.png]2. system.cut.println(“one two buckle your shoe.)
System.out.println("Three four shut the door.");





[image: image5.png]3. What is the difference between System.out .print1n and system.out .print?




[image: image6.png]3. system.out.println ends a line of input, so the next output goes on the next
line. With System.out .print, the next output goes on the same line.




[image: image7.png]4. Whatis the output produced by the following lines?

System.out.println(z + v * +2);
System.out.printin(2 + 2);




[image: image8.png]4.22
.

Note that
242
contains a string, namely * . So, Java knows it is supposed to produce a string.

On the other hand, 2 + 2 contains only integers. So Java thinks + denotes addition
in this second case and produces the value 4 to be output.




[image: image9.png]5. What output is produced by the following code?
String astring - "gelly beans;

System.out .println(*START1234567850"
System.out .printf ("STARTYSEND tn", astring) ;
System.out .printf ("START4SEND tn*, astring) ;
System.out .printf ("STARTY13SEND tn*, astring) ;
System.out.println();





[image: image10.png]5. START1234567890
STARTIelly beansEND
STARTIelly beansEND
START Jelly beansEND




[image: image11.png]6. What output is produced by the following code? For each output line, describe
whether the line begins or ends with a blank or blanks.

string astring = "Jelly beans";
Gouble d - 123.1234567890;




[image: image12.png]6. The last two of the following lines end with a blank. The last line begins with two
blanks, one that follows ¢ in the format string and one because the field width is
5 but the number to be output fills only cight spaces.

START1234567890
STARTJelly beansEND
123.1235




[image: image13.png]7. Write a Java statement to output the value in variable d of type double to the
screen. The output should be in o-notation with three digits after the decimal
point. The output should be in 2 field of width 15.




[image: image14.png]7. System.out.printf("#15.3e", dI





[image: image15.png]8. What output is produced by the following code? (Assume a proper import
statement has been given.)

NunberFormat exerciseFormatter
‘NumberFormat .getCurrencyInstance (Locale.Us) ;
Gouble d1 = 1.2385, a2 = 15.67850;
System.out.println (exerciseFormatter. format (dl)) ;
System.out .println(exerciseFormatter. format (d2)) ;




[image: image16.png]8. 51.23
$15.68




[image: image17.png]9. Suppose the class Robot is a part of the standard Java libraries and is in the
package named Java. avt. What aport statement do you need to make the
class robort available to your program or other class?




[image: image18.png]9. Either
import java.awt.Robot;
or

Smport java.awt





[image: image19.png]10. Write an import statement that makes the Scanner class available to your
program or other class.




[image: image20.png]10. import java.util.Scanner;




[image: image21.png]1. Wiite a line of code that creates a scanner object named £rank to be used for
obtaining keyboard inpu.




[image: image22.png]11. Scanner frank = new Scanner (System.in);




[image: image23.png]12. Write a line of code that uses the object frank from the previous exercise to
read in a word from the keyboard and store the word in the string varisble

named w




[image: image24.png]12, w = frank.next();




[image: image25.png]13. Write a complete Java program that reads in a line of keyboard input
containing two values of type 4t (separated by one or more spaces) and
outputs the two numbers as well as the sum of the two numbers.




[image: image26.png]public class Exercise

{

public static void main(String[] args)

{

Scanner keyboard = new Scanner (System.in);

System.out.println("Enter two numbers.");
int nl - keyboard.nextInt();
int n2 - keyboard.nextInt();

int sum - nl + n2;

System.out.println(nl + * plus * + n2 + " is " + sum);




[image: image27.png]14. Write a complete Java program that reads in a line of text containing exactly
three words (separated by any kind or amount of whitespace) and outputs the
line with spacing corrected; that i, the output has no space before the first
‘word and exactly one space between each pair of adjacent words.




[image: image28.png]14. import java.util.Scamner;

public class Exercisez

{

public static void main(String[] args)

{

Scanner keyboard = new Scanner (System.in) ;

System..

String
String
String

System..

out.println("Enter a line with three words
wl = keyboard.next () ;
w2 = keyboard.next () ;
w3 = keyboard.next () ;

out.println(wl + " " + w2 + " " + w3);





[image: image29.png]15.  Something could go wrong with the following code. Identify and fix the

Scanner keyboard = new Scamner (system. in) ;

System.out .println(*Enter your age.");

int age - keyboard.mextInt();

System.out .println(*Enter your name.");

string name = keyboard.nextLine();
System.out.println(name + *,you are " + age + " years old.





[image: image30.png]15. The newline character is left in the input buffer after the nextInt () call and
should be removed prior to calling nextLine (). This can be fixed by adding
another nextLine ) call:

Scanner keyboard - new Scamner (System.in) ;
System.out.println(*Enter your age.");

int age - keyboard.nextInt();
keyboard . nextLine () ;
System.out.println(*Enter your name.
String name - keyboard.nextLine();
System.out.println(names+”, you are "sages" years old





[image: image31.png]16. Suppose your code creates an object of the class scanner named keyboard (as
described in this chapter). Wiite code to change the delimiter for keyboard o
2 comma followed by a blank.




[image: image32.png]16. keyboard.useDelimiter (",





[image: image33.png]17. Continue with the object keyboard from Self-Test Exercise 16. Consider the
following input:

one, two three, four, five
‘What values will the following code assign to the variables wordz and woraz?

string wordl = keyboard.next();
String word2 = keyboard.next ()





[image: image34.png]17. wi is assigned "one, two three"; w2 is assigned "four™.




[image: image35.png]18, What would the program in Display 2.12 output f there is no file named
player. txt in the same directory as the Java program?





[image: image36.png]18. The program will output "File not found."and exit.




[image: image37.png]19. What is missing from the following code, which attempts to open a file and
read an integer?

import java.util.scamner;
inport java.io.FileInputstream;
iuport java.io.FileNotFoundmxception;

public class ReadInteger
{
public static void matn(stringl] args)
{
Scanner filern = new Scamner(
new FileTnputstream(vdatafile.txt™));
int mm - fileIn.nextInt();
Systen.out .print1n (num) ;




[image: image38.png]19. The statement that attempts to open the file must be inside a try/catch block, as follows:
cry

{

Scanner fileIn = new Scanner(
new FileInputStream("datafile.txt"));

int mum - fileIn.nextInt();

System.out .println(mum) ;

1
catch (FileNotFoundException e)
{
System.out .println("File not found.");
1

Alternately, the line th:-owe ¥ileNotFoundexception could be added to the end
of the definition of the main method, but this approach is not recommended
because the exception will simply be handed off to the JVM and it will halt the

program.




